NN N NN NN NN A
%\ NN N N N NG NN NN NN \{Q{t LN
gl_?\ AN
N Mathematics S %\*\
%i Second Quarter ‘\\\3\\%‘_
& WRITTEN OUTPUT # 2.1 @
N NAME: SECTION: h
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%\*— A. Write the letters of the best answer on the blank provided %i\\{
%\\‘_ 1. What is the product of 42.7 and 2.97¢ QQ\
® A. 126819 B. 126918 C. 162819 D.819.126 &
{‘\\\ \_ﬁ:\
Y 2. Find the product of 0.8 and 0.15. "
%\ A. 0.110 B. 0.120 C. 0.130 D. 0.140 Qi\i
A 3.28 x 132 = 3696. How much is 2.8 x 13.22 2\
N A. .3639 B. 3.639 C. 36.39 D. 363.9 N
N A\
“ 4, Which decimal will replace the multiplier to make the expression W
Q}f}\\ correct? 15.6x =0.3432 Q)\\
R A. 0.0022 B. 0.022 C. 0.22 D.22 .
%\\\\\ %\:\\Q‘
- 5. What do you get if 436.7 is multiplied tc 0.012 “
A A. 4367 B. .4367 C. 4367 D. 43.67 A
Y N
%{3 é. Find the product of 2 and 0.87. Q\
“ A. 2.74 B. 1.73 G, 1372 D.1.74
A \ AN
E b
® 7. Multiply 0.54 and 6. @ =
Q&_ : 3.24 B. 3.42 C. 342 D. 32.4 '-\g&-
A : \
N\ 8. What s 105.55 X 252 N\
'\ A. 2638.75 B. 263.875 C. 26.3875 D. 26387.5 .
e
Q&\\ 9. Whatis the product of 23.45 and 15.63 ¢ &
N A. 356.5235 B. 366.5245 C. 366.5231 D. 366.5235 N
. ¢
%_\\ - . . %\\
'y 10. If 28.76 is multiplied from 46.3, what would be the answer? N
LN A. 1331.586 B. 1331.587 C. 1331.588 D. 1331.589 \ N
A \Q\l
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